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@ How many vowels are there in step 1 ?

Q. What is the difference between highest and_lowest number |rl_jgp_16 5b8Lﬂ

Q. If aII the n@grranged in ascending order from left to right then which number is 3™ from the ri right
b

dinstep3
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Input: Dell Remote Films Launch Attempt Money



Input : 722516 837725 131896 846225 324722 271364

Step 1: 779 71411 1594 7812 4115 1049 338 ;l':_‘)_ IL'DS A
é:p 2:49781 491411 15916 49814 161125 10481 J Ll o, ”l “};‘?
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step 4: 79 413 614 1617 513 14 A x
Step 5: 134479 1114667 11345 = X (@l gé b3y B3
Input: 964638 846123 249613 524012 787745 451728 L_j%_@ ue s b 34439

@. What will the sum of last digit of all the numbers in step 1 7@_11
C(i. Which number has the highest product of digits in step 2 {Sl—rl‘!ﬁ ) 1113638
B

%uow many numbers are divisible by 7 in step 4 ? @
What will be the resultant of sum of 15t and 2"¥ numberin step 5 ? — —
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@Nols  SHR MI56 371 31I5 10k3
@71770135 35H®  16153C 445 RIMIRG 1088)
@5?1,0 @59 Girs RJI6E 4ol)4 08
@ R BI=- 6113 LR URg |8
ORREEE: 113618 0)2u5g




Input: 964638 846123 249613 524012 787745 451728
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@. Which is the 3" element to the right of 5th element from the left end in stepl?
. How many numbers are there to the left of Effecég tes 3 '-’_'}_

What is the sum of all even numbers in step 5 ?

@ What is the product of digits of all odd nu b r|n st ‘ UxLx/
D Toek 31 Ogcax Thhed ;%’ S —
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Input: Oscar Effect 75 56 91 Task Purchase 63
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Seat | : 368BE

Seat Il : 151CP

Seat Ill: 224 XL

Seat IV : 896 WF

Seat V : 192SI

Seat VI : 495PM
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Input Output

141lE 61522

718GF 162021

482AD 142623

633K 121716

278BH 172519
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a'lere are 6 seats around circular table numbered_| to VI in clockwise direction. Each seat consists of a

combination of 3 digits and 2 letters. Combination of each seat is given below : 1
Seat | : 368BE EECECU £B S i u
Seat Il : 151CP 341) -fj O
Seat llI: 224XL 318 = &

Seat IV : 896WF 3y ) _?_ |__ \

Seat V :(192$|3 2RI .

Seat VI ; 495PM g‘ &1 3

(T~

@)w using the seat combo as input and applying the below given pattern to the get the output.

Input Output =5

41LE | 61522 1 L ¢ 6 5.‘3_5

482AD 142623

633JK 121716
278BH 172519

@ow using the output, persons sitting on these seats are figured outéor the person name, just write the
respective letter to the sum of the digits of the respective output.
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Q. Who sits on immediate left of seat lll (if all are facing inside) ? [___
Q. Who sits on seatV ? T

Q. What is the output of seat 11?7 #241|

Q. Who sits oppositeto IV ? _S
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Step 2: 402678 39845 ,g59395956 665339 é—u 339645
Step 3: 024687 488359 000659266579 635599/663360 tMo 666 33
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| Notes Some of the elements are missing and some are wrong(m bold steps), find them.
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Input: (G,S) (PT) (L,C) (M)Y) (S,B)
Step 1: (H,T) (O,S) (K,D) (N,z) (T,A)
Step 2: 16028 28534 4415 36440 2021
Step 3:162828344453640201

Step 4: 710107881021

Step 5: 7$1501507588150215
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